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WR29%10H4H~10H 17H
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(3) AN

KB K OVEE DR T EE IR E (Bt A (Cs—134, Cs—=137) ) DHIE
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(1) K& (B TBRfE:1 Bg/L)
Cs—134+Cs-137: AHLEICBW TR
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431 110 Bg/kg

AGER T OIS B AR D BARE OKOE s & B A AR E) CER244E3 7 5 B AT /K 030555 1524

S5 B e JR K TE R )

HEEES A (B 134, BT 4137 631 110 Bg/kg

(2) J&E (BrH TERME: 10 Ba/ke(F#ZIE))

A TOHET500 Ba/kgbh T THD, HEIAEFIZDOUWT

(T AZEAE DB B THER

Cs=134+Cs—137: A ~ 392 Ba/kg(HZJE) (A ~ 336 Ba/kg(HzlE))

<BE> YT AREZE (500 Bg/kg) OIE MK

() PRSI 300 s 2

500 501 1,001 1,501 2,001 2,501 e
LLF -1,000 | -1,500 | -2,000 |-2,500 | LLk a
AYE 15 0 0 0 0 0 15
(15) (0) 0) (0) 0) 0) (15)
(G BIHL)
(HLX BHS)
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ORrFRER) (BI#R)
JKEEZAUTHER—E
BRI A ST — % H T B I L (Ba/L)
BREA | K ki | B E 5y ss 8 W > o o %
No. Tk 4 (m)
(m) (m) (%0) (mg/L) (&) Cs—134 Cs—137
1| FE U i S Sk SR R 2000m T =8 10A5H i 14. 6 0.5 4. 29.8 < 0.5 < <
T 13.6 32. 4 4 2.3 <1 <1
o ka1 R Bt [ 8 | jopap | B o8l 00 L 28.8 10 6.0 a a
T 1.8 29.0 10 5.5 <1 <1
3| AH R Hb 5 v BB )1 592000m s 3T =8 10A5H i 19.2 0.5 5. 32.2 < 0.4 < <
T 18.2 32.3 2 0.7 <1 <1
4 59 1000m e 3T f’é 10A5H i 7.9 2‘2 4. i?; T g‘z : :
TR TSR E3E 0' 5 31. 3 <1 0' 6 <1 <1
5 K H 59 1000m e 3T = 10A5H i 11.0 : 4. : :
T 10. 0 31.9 2 0.8 <1 <1
6 /NI 1000m e 3T =8 10A6H = 11.0 0.5 5. 30.7 ! 0.5 <l <l
T 10. 0 32.0 1 0.5 <1 <1
7 FH )1 1HK92000m s 3T =8 10A6H = 16. 1 0.5 6. 30.3 L 0.4 < <
o T8 15.1 31.7 2 0.7 <1 <1
TR R AR E3E 0.5 29.0 5 3.1 <1 <1
8 REJI 7K 1000m et 3T = 104100 i 13.0 : 2. : :
T 12.0 30.0 13 5.0 <1 <1
9 & ) 119 1000m {3 =8 104100 i 10.8 0.5 3. 28.5 3 L4 < <
T 9.8 30. 2 10 4.3 <1 <1
0 T b e K1 1000m o 3T #E L jopne| = 1.8 00 . 29.9 2 L1 a a
T 12.8 30. 2 6 2.1 <1 <1
117 R F ##91000m {3 L 10H11H = 11.6 0.5 4. 30.0 2 L2 <l <l
T 10.6 30.5 8 3.6 <1 <1
12| KA [ ##51000m {3z L 107417H = 10.8 0.5 4. 27.7 3 L5 < <
T 9.8 28. 4 2 1.0 <1 <1
13|V o & T S B HN M9 1500m 3T =8 107120 i 18.5 0.5 7. 31.2 < 0.5 <l <l
T 17.5 31.5 <1 0.5 <1 <1
14| i EEER Ao 0omiEE|— 208 | 10g12R | 1 6.9 0 6. 28.6 < 0.5 < <
T 15.9 29.5 2 1.2 <1 <1
15| HHE S ek 0 1 559 1000m A< 3T =8 107120 i 18.2 0.5 7. 30.8 ! 0.6 <l <l
TE 17.2 31.1 1 0.6 <1 <1

- BRI, AT E L CAED b ISRl
B TEV B IR EE ORAEIT 1T, FHEGRESENE EN TV DA, AR W TIERH L Ty,




OnFG(EER)
BEEEZSIVITRE-E

RIS Sk —HXIE H TSP E IR [Ba/kg (FLJE) ]
. BKE [ Ay R y 3 it
No. 7kiﬂi% :F?KE& H 35{% (m) :BK(E{;!E g(@#‘ ‘l‘%llj( f&%—f l‘%"? N '7 I _ {Jﬁ%
(cm) (%) Cs—134 Cs—137 &
1| AR A i S v g FIRT AR 2000m s T 10H5H i 14.6 5 76. 7 w <10 <10 -
2\ ) 1| i Sk TR ZEHE X X 1 B FR oS 10H4H o 2.8 5 75. 6| « > L b <10 49 49
S| AR B b Sk H5)13#592000mf 30 10H5A i 19.2 5 75. 1 0y <10 13 13
4 i N 57 9 1000m s 3 10H5H i 7.9 5 75.8 w <10 37 37
JF e vt
5 ST TG K P9 1000m A<t 3T 10H5H i 11.0 5 73.4 22 <10 26 26
6 JINE I8 1000m e 3T 10H6H & 11.0 5 73.3 T <10 38 38
7 , 55 51 H#92000m et 3T 10H6H = 16. 1 5 66. 8 w 22 180 202
i Xt S Vi
8 R s REJHP#91000mfs 3T 104 10H & 13.0 5 66. 0 b 42 350 392
9 B 7K 1000mft T 104 10H i 10.8 5 68. 7 0y 38 340 378
10 | AR ZERT Hh e ek A9 1000mf-FUT 10H11H 2 13.8 3 76.8 v <10 52 52
11| VRN 1 A 1000mAs it 10A11H 2 11.6 3 72.1 b <10 51 51
12| FRAJHRT 21 ¥ 1000m A+ 3T 10H17H & 10.8 5 72.9 T <10 31 31
13|V o & A SE ek S 1500m A 3 10A12H i 18.5 5 73.5 0y <10 18 18
14|/ 4% 1k PGB 82 55 2 D AL #9400 m AT 105121 i 16.9 5 472> v b oW 22 260 282
15| H AT FE ik 18 [ )1 #9100 0mA<t /T 10H12A i 18.2 7 68.9 Tib <10 42 42
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